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itk = 1 99, 943, 608
HEELT = 1 15, 261, 777
PEHI L (ICT) = 1 3,796,950 |#@HI (ICT) 2, 400 m3
t =7 iy BEEMEL 5, 000m3ATM ;
1A Y 2, 280 m3
ifﬂ Catf- iRy L&) ;
H 1 2, 300 m3
L O0-2)
BEARRE AT = 1 179, 382 | B&{A (SLs2) R+ 30 m3
2. 5mAT ;
EuNE R 20 m3
2. 5mPh 4. OmASTw ;
PSR+ T (ICT) = 1 11,274, 463 | B £ (ICT) 950 m3
(HEET K IR)
4. 0mPL E
AR 1 (ICT) 540 m3
(EERER) (7]
4. 0mPL E
R Zp s 1, 300 m3
FefifKALEE+ (1< LER)
R Zp s 760 m3
[#%[#]
FefifRAEE+ (1Z<LER)
BT T (ICT) = 1 10,982 | JEmFEI (R 1) (1CT) 20 m2
ELiHkEE O L ;
EEEET = 1 49, 745, 380
TAT 7 M T 2 1 44,394,190 | LB KA (FLE - BFEB) 2,120 m2
BrgAFe LA, 1 EVE 170mm ;
b A (- BEE ) 1,280 m2
(7]
brgRFeLEEAS fE EVE 170mm ;
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R (HEGE - BRI ) 2,120 m2
RIE TR A M-25 {1 Y /E 100mm ;
R (HEGE - BRI ) 1,280 m2
(7]
RIFE TR M-25 {1 Y /E 100mm ;
g (I - BIF ) 2,120 m2
FAHKLE T A2V (20) SH%EE 50mm 3. Omid ;
g (I - BRIF ) 1,280 m2
(7]
FACHKLE T A2V (20) SH%EE 50mm 3. Omid ;
W g (8 - B ) 2,120 m2
FRAEHUDRIEET 22 (20) 4 50mm 3. 0miA ;
W g (8 - B ) 1,280 m2
(7]
FAHRLEET 22y (20) &H%EE 50mm 3. OmiH ;
W g (8 - B ) 2,120 m2
YEAs FRBIITRY (20) DS5000 4#%E/5 50mm 3.
Omit& ;
W g (8 - B ) 1,280 m2
(7]
YEAs MUkL 1179 (20)DS5000 &%E/E 50mm 3
. OmiZ ;
g (I - BIF ) 3, 760 m2
BRRIE vy 7" ASK Vv-oE I (13) 4f%E)/5 50m
m 3. 0mi# ;
g (I - BIF ) 2,020 m2
(7]
BRRIE vy 7" ASK Vv-oE I (13) 4f3E)/5 50m
m 3. 0mi# ;
Sy 170 m
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R (HEGE - BRI ) 206 m2
[#%[#]
RIE TR A M-25 {1 Y /E 100mm ;
g (I - BIF )
[#%[#]
FAEHUDRLEE T 2a2Y (20) 50mm 3. 0miA ;
W g (8 - B ) 206 m2
[#%[#]
FAHRIEET A2/ (20) AHMEE 50mm 3. OmiR ;
g (I - BIF ) 206 m2
[#%[#]
FAEBRIEET A2/ (20) AHMEE 50mm 3. Omid ;

206 m2

T
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TAT 7 b T 2 1 255,530 | LB EAE (BE - BIEER) 101 m2
RIE TR A M-25 {1 Y /E 100mm ;

g (I - BIF ) 101 m2
FAEBRIEET A2/ (20) AHMEE 50mm 3. Omid ;

Z K MRS T 2V 1 2,711,968 |7(Vh-J& 632 n2
WA EYE 70mm ;

T B GRE ) 699 m2
FEITyYr77 RC-40 A VW E 100mm ;

3] 699 m2
Ab=b BKPET A3 (13) 2. 4mPh b &HHEE 40m
m -

FRPEREE T E20 1 529, 405 |74 V4-J& 113 n2
£ EYE 150mm ;

T B GRE ) 113 m2
FEITyYr77 RC-40 A VW E 150mm ;

3] 113 m2
Ab=b BKPET A3 (13) 2. 4mPh b &HFEE 50m
m -

PRARPERET. EN 1 361,920 | F@i (Bt 60 m2
FEITyYr77 RC-40 A VW E 150mm ;

- A (RIE ) 60 m2
A M=25 {1+ EYJE 100mm ;
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@ (HBEE) 60 m2
HAMKRIET A2y (20) &3S 50mm 1. 4mPh b

PKPERE - 8 (F0E - B AL 60 m2
K =GA7A77VMEE ) (13) &hZE/E 50mm 2. 4mPL b

HEKHEY) T Y 1 14, 951, 487

>t

e+ T 2 1 334,137 |FRIRY 1
+4)

WRL 1

HmEE 1

EH'%

T =X 1 13,352, 740 | %% (&) LRI 213
(ATH)
FEYERR 400 HEWTH 1L=2000 LiAfLft ;
B () IS 24 m
(BHY)
BRI 400 HEWTR L=2000 AR 1 v-F
VAR
B () IS 20 m
(CHY)
TOTRES 400 #HEWTA L=2000 L#3AEAMT 7 V—F7
VAR
B () IS 34 m
(D7)
FAWTER 400 AEMTH 1L=2000 77y M ;
B () IS 29 m
(EH)
49%3F AEB 400 HEWTA 1L=2000 LiEAELAT ;
B () R 5 m
(F 17%)
6~0%FEATER 400 #EWTH L=1000 ;
B () R 4 m
(F 27
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6~ A%RERATER 400 HEWTH L=1000 AL ;

B () ST 163 m
(Fh ooy BEHA R
300% ;

7" Vv A NUBRMAITE: 12 m
(P
400X 400 ;

ik 24 e
(P
av/))-h#5 (400F) L=500 T-25 ;

s

BT =X 1 540, 770 | REMTIE I 17 m
4007 T-25 1L=2000 ;

AR A 1 728,840 | BT B R 3 it
BIEFTHT 600X 600X 700 18-8-25 (k) L
TESEAH IETE

BT HEARY . -
BIEFTHT 600X 600X 700 18-8-25 (k) L
TESEAH IETE

BT HEARY . -
BIEFTHT 600X 600 X800 18-8-25 (k) T
TESEAH IETE

BT HEARY . -
(oo B )
BUGFTH 600X 600X800 18-8-25 (k) i
TESEAH IETE

7T V—F/07 2 (600 X 600) T-25 I H & vhEED ;

= 1 e
7T V=F/) 2 (600X 600) T-25 HEE & VMEEZ ;

= 2 e
7T V=F/) 2 (600X 600) T-2 HHE & VMNEEZ ;

fxa L = 1 3,717, 264
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TEHEX Sy - THE - R B {7 % & # il pall 2! R
e L = 3,717,264 |MREEERT ny) 212 m
— %S MR 180/230 X 250X 2000 ;
HRHLERE R T ny) 11 m
PR WER 180/230 X 250~100 X 600 ;
HRHGEBESN T vy 53 -
FRWTHR B - BHAFT 150X 100 X 600 ;
HRHGEBESN T vy 49 -
T AEE 70/100 X 180X 600 ;
MR T ny) 142 m
HRIET 120 X 120 X600 ;
MR T ny) 24 m
F AL 120 X 120 X600 ;
Bh AT L 2 2,299, 024
PEANIBA AT L 2 542,080 |4 =} V=W 56 m
WAL E, Gr-C-4E 50mPA - 100mAHis s 4 1E
A
B LA T 2 1,756,944 |H57E (REWT) B 1AM 196 m
M 0.8m HrRALA ¥ -7 90y
ENETR B 2 1,032,137
[E = 1,032, 137 r‘ﬁﬁTl: i 1,110 m
R TE) 928 15em JE 1. Smm HEAKPE S 25
E
r‘ﬁﬁﬂ: hi 210 m
R TE) AR 15em JE 1. Smm HEKPE S 2SI
E
a2 X R 590 m
WRCTFE) v 777 45em JE1. mm HEAK M A LE HE
SIS
r‘ﬁﬁﬂ: hi 120 m

R CFE) RED-FES - 30T 15emifE
EF7J<T$§$%§??§ H s

JZ1. 5mm
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TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! R
H AT B MR T = 1 3, 303, 676
BT 2 1 45,696 |BER4E 14 #e
40X 100X 2 (BT &) 10BLL E30KAR |
EATEY L = 1 3,257,980 | ELFHERR 251 m
300 X600 UK - FIR FAKIESZE ;
HEE L = 1 7,248, 763
e LT it 1 3,213,272 |2/~ Mk EE L o1 m3
MRS BhkE T
EhAERR G 1 2V
TAT7MEZERR 15emELl T
EhAE AR AR 3, 700 m2
TA7 7V MERZE R BHZENRUE 15emlA T
TEHE A= T 2 1 733,975 |av))-MEEWEUE L 14 m3
MRS BblE T
PR A 120 m
K7 300 ;
PR A 3, 363 m
VU50, VU40 ;
TR AL T = 1 3,301,516 |#RiEM: 111 m3
av ) -bik (BERR)
o 1 443 m3
TAT 7V
By 111 m3
av ) -bik (BER5)
By 409 m3
TA77 bk (HREI - 2. 35)
By 34 m3
TA77 bk (HREI - 2. 20)
BOE MRS 19 m3
BE7 7AFyI¥E
B3 A S i 1 X
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A = 2, 384, 100

B EHT = 2,384, 100 |AZ@EHEE(EE =

BT E A E F2V

[#%]

[ERAE Xy = 99, 943, 608
HiE R = 17, 124, 180
Hom it = 3,502, 180

HeffrE sy = 1,249, 180 | YATARIEAE (1CT) =

B M HERR FaAT =

B M HERS SRRT T A AR X
BGRESGESE (5 L) = 2,253, 000
B (FEHL) = 13, 622, 000
T = 117, 067, 788
Bl gy = 36, 547, 000
T =5l = 153, 614, 788
— R A = 24, 885, 212
TS = 178, 500, 000
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